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MPSC

Notations:

1. Options shown in green color are correct.
2. Options shown in red color are incorrect.

Group A

Number of optional sections to be attempted: 0, Group Maximum duration : 0, Group Minimum duration : 60,
Revisit allowed for view? : No, Revisit allowed for edit? : No, Break time: 0

Assistant Professor Economics

Section type : Online, Number of Questions to be attempted:100, Mandatory or Optional: Mandatory

Subsection : 1, Question Shuffling Allowed : Yes

Question id : 4203 Question Type : MCQ
Basic economic problems will not be solved by:

Options :

1. Market Forces

2. Government mtervention

3. A mixture of government intervention and market forces

4. The creation of unlimited resources

Questionid : 4203  Question Type : MCQ

TR 3T THEIT WrelloTdehT H2ATeT HHTTT TGV ATEIT:

Options :

1. 9oIR Hath Feufa

2. G R @l

3. TSR Gt AT 31107 ALhRT Gael AT TAA0T

4. 311 Giara fAfAf

Questionid : 4204 Question Type : MCQ

Any combination of products inside the production-possibility frontier is


http://www.tcsion.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2Fserver%2Fdefault%2F%2E%2Ftmp%2Fdeploy%2Ftmp29631touchstone%2Dexp%2Ewar&questionpaperid=10020&questionPaperSharedOrOwn=own#nogo

Options :

1. Allocatively mefficient

2. X-mefficient

3. Productively mefficient

4. Consumption inefficient

Question id : 4204 Question Type : MCQ

AT THTTAT BieeaX TEHT 3cUTGI FIUTART Ueh TAToTeT 3118

Options :

1. foefoT 3rorerrelt

2. U TTTET

3. 3cUTGehdT 3TT3HTET

4. 3THIT ITTHTAT

Question id : 4205 Question Type : MCQ

An outward shift of the production possibility frontier may be caused by

Options :

1. Better training of employees

2. Increased government spending

3. Productive nefficiency

4. An increase n demand

Questionid : 4205 Question Type : MCQ

3cuTe fAHATOT HHTEEAT Shieear Fefier areeh Rive R fEufa @refiertdshr sty 319 erehd

Options :

1. HFHARIAT SccTe FIALTOT

2. EHRT AT 16

3. 3cHTce IaTHAT

4. AU 916 gIoT

Questionid : 4206 Question Type : MCQ
[f margmal utility is zero then

Options :

1. Total utility is zero

2. Total utility is maximised

3. An additional unit of consumption will decrease total utility
4. An additional unit of consumption will increase total utility
Question id : 4206 Question Type : MCQ

S HHTHIRT SYANTIAT e AT hTAN



Options :

1. THUT 3TN e 38

2. w ECRITICH W gIuIR

3. STHTETE T $<=hl$ dTeedTel ThUT SYIIRNAT FHHT IR

4. 3RS Ueh Sh1S dTGedTe] Udnd 3T ATEUTR

Question id : 4207 Question Type : MCQ

The mcome elasticity is +2. The income of the consumer increases by 20%. Sales were 5000 units, What will
they be now?

Options :

1. 3000

2. 7000

3.5500

4. 4500

Question id : 4207 Question Type : MCQ

TG ATTHRIAT +2 TR, IEHMET 37T 20% o deaT 38, FFHT 5000 SHTS 8T, J AT FT
HIcATel?

Options :

1.3000

2.7000

3. 5500

4. 4500

Question id : 4208 Question Type : MCQ
With a positive externality,.............ccecueenneee. .

Options :

1. There is under-consumption in the free market

2. There is overconsumption in the free market

3. The government will tax to reduce production

4. Society could be made worse-off if less was produced
Question id : 4208 Question Type : MCQ
HRTICHD STETAT BT 3T v .

Options :

1. FeFc TSI ST STHET 3r8dr

2. Hcrd JTSTRTd SITET 3TN 37ar

3. 3cqTeeT HHT FIUATHIS TTHR T ATV

4. ST 3G AT thel X THATSITER ABC THT VTR




Question id : 4209 Question Type : MCQ
When supply increases in an agricultural market, farmers’ income might fall because

Options :

1. Supply is price elastic

2. Demand is price elastic

3. Supply and demand are price inelastic

4. Supply is stable

Question id : 4209 Question Type : MCQ

STegT T STSTRTA I aTed, AcTehrel 3HTaeh HaT gl HROT

Options :

1. It fohardt Aied sl 3r8d

2. AR fohAd e d dldei 38

3. 3l 30T ARTOT fh A Hied o=t 3redrd

4. 3t &R 38T

Questionid: 4210 Question Type : MCQ

Total cost increases from Rs. 500 to Rs. 600 while output increases from 20 to 30 units. Fixed costs are Rs.
200. Which of'the following is true?

Options :

1. Margmal cost is Rs. 20

2. Average cost rises

3. Fixed cost rises

4. Variable cost rises by Rs. 200

Questionid : 4210 Question Type : MCQ

THUT G T 500 YR T 600 ST 318 0T 3cUTEsT 20 YR 30 $ehTs SHTel 3. STdeh oATeTel 318
% 200. GrelTeld<hT ST T AT?

Options :

1. AT @F T 20 3T

2. EEY @ aTgelt A1

3. TR @ areer e

4. 3TTEUT @I T 200 TR ATGAAT 3T

Questionid : 4211 Question Type : MCQ

Total cost increases from Rs. 500 to Rs. 600 while output increases from 20 to 30 units. Fixed costs are Rs.
200.

Which of the following is true?

Options :



1. Margmal cost is Rs. 20

2. Average cost falls

3. Variable cost rises by Rs 100

4. Average fixed cost is Rs 100

Questionid : 4211 Question Type : MCQ

@\U;Tl;?h? 500 U ATGdTEAT & 600 ST 3T 30T 3cTTEsT 20 UIsT 30 SIS 3TTel 3Te. R @I T
200 .

GlolTeTdeh! ST I 31182

Options :

1. ATl @ % 20 3T

2. FUEL W ST STeIT 378

3. 3TN @I T 100 UIST TTET 3T

4. T R @ ¥ 100 318

Questionid : 4212 Question Type : MCQ
Examine the following diagram

The Gini coeflicient is

Options :

1. A/(A+B)

2. B/ (A+B)

3.A/B

4. (A+B)/ A

Questionid : 4212  Question Type : MCQ
Groitel Terrr qT&Tor &hr



Rvfer aqoris 33

Options :

1. A/(A+B)

2. B/ (A+B)

3.A/B

4. (A+B)/ A

Questionid : 4213 Question Type : MCQ

Which of the following would not be considered as near-money?

Options :

1. Time Deposits

2. Saving and loan

3. Treasury bills

4. Demand Deposits

Questionid : 4213  Question Type : MCQ
TTeilel Yehl ST e THET 3TE?

Options :

1. 37afer ST

2. 9 30T Fot

3. ¢ foed

4. AU STAT

Questionid : 4214 Question Type : MCQ
‘High-powered’ money is:

Options :



1. Only banks’ reserves with the Central Bank
2. All bank loans

3. Loans and security of banks

4. Rupees held as legal bank reserves
Questionid : 4214 Question Type : MCQ
3T ATFA” T 378

Options :

1. BaFd Soh STHT of ool Soh &3 3Ted

2. |9 I Fat

3. SR ot HTTOT JI&TT

4. denfare ¥ Rord Fer 3rerer 4

Questionid : 4215 Question Type : MCQ

In the Hekscher - Ohlin Theory, the most important cause of the difference in relative commodity prices and
trade between nations is a difference n:

Options :

1. Factor Endowments

2. Technology

3. Tastes

4. Demand conditions

Question id : 4215 Question Type : MCQ

WW ATEATT — HEG TET R 0T ST STaATT HHT AR 3T IS Aged Ty
ST :

Options :

1. heFeX TeslaHecH

2. af¥s feafa

3. gdreTor

4. AreTofly FEAfa

Questionid: 4216 Question Type : MCQ
Supply of money is:

Options :

1. A stock concept

2. A flow concept

3. Both stock and flow concept

4. Neither a stock nor a flow concept
Questionid: 4216 Question Type : MCQ
Tl 3-11'5[\% 3-11%' :



Options :

1. Tk YR ode

2. FehTT TR
Y o
3. Tl 30T garg TRehede]
4. T2k fohaT aTg IR eI S1gra 18T
Questionid : 4217 Question Type : MCQ
When the estimated slope coefficient in the simple regression model p* is zero, then

Options :

1LRZ=Y

2. 0<R*<1

3.R?=0

4. R? > (residual sum of squares/total sum of squares)

Questionid : 4217 Question Type : MCQ
STegT ITTATAT TellT I[UTIh TS RARAT ATSel HEY B e THOTR gl

Options :

1.R?=Y

2. 0<R%<I

3.R?2=0

4. R? > (G1TY 3Telel SAIS/THUT Al SA1S)

Questionid : 4218 Question Type : MCQ

If we reject the null hypothesis, we are saying that our finding

Options :

1. Statistically significant

2. Statistically insignificant

3. Not related to significance

4. Not making use of p value

Questionid : 4218 Question Type : MCQ

ST 39T [+ TR I hcll, TTegl ATIOT HIATcT fob 3ol FEOTOY 3178

Options :

1. FifEIhIT RN sRIe 378

2. HITEThY fgeNere Ieh 318

3. g AT

4. p foraAIT IR el AT el

Questionid : 4219 Question Type : MCQ

In the log-log linear regression model, the regression slope



Options :

1. Indicates by how many per cent Y increases, given one per cent increase in X
2. Indicates by how many units Y increases, given one unit increase in X

3. When multiplied by the explanatory variable gives us the predicted Y

4. Represents the elasticity of Y on X

Question id : 4219 Question Type : MCQ

SATIT-ST9T AT RIS Al ALY RF2reT T

Options :

1. gr@ad for forfa coeh Y areer 318, Ueh e aTe X feelt 31

2. a@aﬁﬁ:méaﬂémwm %ﬁ?ﬁwéaﬂéxmm

3. STegT TarECeleTedT 3TEURTeh I 0T shedTel HTTeATT Shedeh Y [Aesal

4. X 3T Y Sireeiacry wiaffteg 3

Question id : 4220  Question Type : MCQ

Rejection of a joint null hypothesis using the F-test in a multiple hypothesis situation means that

Options :

1. A series of t-tests may or may not give us the same conclusion

2. The regression is always significant

3. All the hypotheses are always simultaneously rejected

4. The F-statistics must be negative

Question id : 4220 Question Type : MCQ

JoFT e JTTEROT T TEHT0T ITOT ATHTEN F- CFC SEIhRT TR 0T 3721 1

Options :

1. t- TTHY ST O fAsahy &3 erohel fohaT ATEY goT
2. ST ST et e

3. TS HAURON T Uah a0 T8 T AT
4. F Qif&ThT AhRIcHSD Tl dligor

Questionid : 4221 Question Type : MCQ

If a quantitative variable has k categories, we can mtroduce

Options :

1. Only k — 1 dummy variables

2. Only k dummy variables

3. Only k + 1 dummy variables

4. Only k + 2 dummy variables

Questionid : 4221 Question Type : MCQ

S HEATH TEITh o AT 3Tg, T 3TYUT 70 ehal foh



Options :

1. BoFd K — 1 GIeT 37T Teh

2. ®eFd K @rer A

3. ®eFd k + 1 G@IeT 37TERTH

4. BEFd K + 2 TIT 7T

Questionid : 4222  Question Type : MCQ
Multicollinearity can be detected if the regression function

Options :

1. Has high R? with all coefficients having high t-ratios
2. Has high R? with very few or no coefficient having high t-ratios
3. Has low R? with all coefficients having low t-ratios

4. May not have high R? but all coeflicients have high t-ratios
Questionid : 4222 Question Type : MCQ
HedlehiTeleIR e &h1e rehdl STegt Ticiardel et 3rder

Options :

1. 359 R? {4 I[UTIhT HIad 3T t-3HJqTd AT

2. 3% R? Aseh fahar ST I[0Tieh ATEY ST t-37e]dTel 3THcTel
3. fola=T R? | I[0TIhT AT fold=T +-376]9Tel 3 HoATa]

4. 359 R? A Ashel I F I[UITRTd 3T t- 34Tl I HciTel
Question id : 4223  Question Type : MCQ

For testing of heteroscedasticity we first obtain the OLS estimates of the parameters in the case of all testing
procedures except in the case of

Options :

1. Park Test

2. Glejser Test

3. Spearman’s rank correlation Test

4. Graphical Test

Question id : 4223  Question Type : MCQ

geIEhe ST T Treoft T8 39T 3TEl OLS 37e7aATe IRIATIATS shreat s aravft gishar
GrelTerdehl STgY Ueh T8l

Options :

1. 9Teh aT=ofY
2. TS Aol
3. TRTHY {h SholarlsT Iroft




4. Tithehel DTN

Question id : 4224  Question Type : MCQ

For the null hypothesis of no autocorrelation NOT to be rejected, the value of the Durbin- Watson d-statistic
should be equal to

Options :

— O

1.
2.
3.
4,
Question id : 4224  Question Type : MCQ

Y ITUROT IS S FAHAEAT TE w1l hell el ST eel e d- HITEThT aIs el dTigal

Options :

— A O

1.
2.
3.
4.
Questionid : 4225 Question Type : MCQ

The procedure that is most appropriate for estimating overidentified Simultaneous Equation Model (SEM) is

Options :

1. OLS

2.1LS

3. 2SLS

4. GLS

Question id : 4225 Question Type : MCQ

ol ITsh T ST Halld 3Ugerd TeJATe 3T TSSTrehiss [AFgeeea FHIIUT AISI(SEM) 318

Options :

1. OLS

2.1LS

3.2SLS

4. GLS

Questionid : 4226  Question Type : MCQ

A non-stationary time-series that becomes stationary on first-differencing the series TWICE is a series that is

Options :

1. Integrated of order 0
2. Integrated of order 1



3. Integrated of order 2

4. Integrated of order 3

Questionid : 4226 Question Type : MCQ

W;j;rr AT TTSH HTolT ST T ST 3HTe g1 HeRTaR SGelTaX ATIETT Gode THTOTH,
or

Options :

1. TehIhd 0 AT
2. k'clililjd 19hJ-IIoEI
3. k’q:)\l‘ﬂjd 2 9I”J-|I0j
4. k’chlccfjd 3 sh AT
Question id : 4227 Question Type : MCQ

If an Indian construction company built a road in Kuwatt, this activity would be

Options :

1. Excluded from India’s GNP.

2. Fully included in India’s GDP.

3. Included in India’s GNP only for that portion that was attributable to Indian capital and labour.

4. Included in India’s GDP but not India’s GNP.

Question id : 4227 Question Type : MCQ

SR Teh Rl fAHTOT Shorefielr S dHed Teh T&AT 10T hrarama 3r8el, degl & arfafae
U

Options :

1. AIRATT GNP FYT FolT

2. HRAI GDP FEY quIqY fAHGS ool

3. T GNP HEY SIS elell Hherd oAl HEMIAed Siegl cdTdl R Yait 30T HSLT oIaTell 3ol
4. 9T GDP HEY AT 3118 I HRATT GNP #EY AT

Question id : 4228 Question Type : MCQ

In monopolistic competition,

Options :

1. Firms face a perfectly elastic demand curve
2. Firms make normal profits in the long run

3. There are barriers to entry

4. All products are homogeneous

Question id : 4228 Question Type : MCQ
TSR Fadfd

Options :



1. T HYOT ATeffTy A0 e 38T

2. EITT AT BT Yérel T5hes a8 T Seiacld
3. JARMTATST 3R 3T

4. 99 34T AN 3r9dTd

Question id : 4229  Question Type : MCQ

Which of the following is not a refinement of Nash equilibrium?

Options :

1. Dominant strategy equilibrium

2. Bayesian Nash equilibrium

3. Subgame perfect equilibrium

4. Perfect Bayesian equilibrium

Question id : 4229 Question Type : MCQ
GrelToTdhT T T T Qlad TaE oTTe! 37g?

Options :

1. SIfHeIeC YR I

2. SATAYT AL AIFIAT

3. A UXthere HIFIdT

4. 9IS SATAIT AFIAT

Questionid : 4230 Question Type : MCQ

Which of the following is a solution concept for cooperative games?

Options :

1. Minimax

2. Maximin

3. Security Value

4. Kernel

Question id : 4230 Question Type : MCQ

GrelTertehT ShIUTAT AT TR eI HgehRT IFH HTST 318 ?

Options :

1. AT

2. AFFfAT

3. RaT 7o

4. el

Question id : 4231 Question Type : MCQ

If the correlation coefficient is 0.5 the coeflicient of determination is

Options :



1.0.5

2.0.45

3.0.25

4.0.05

Question id : 4231 Question Type : MCQ

S HEE J[O0TTeh 0.5 37T¢ o I0Tiehre efioT 38

Options :

1.0.5

2.0.45

3.0.25

4.0.05

Question id : 4232  Question Type : MCQ

Which of the following is not a constituent of the capital account?

Options :

1. Merchandise trade balance

2. Balance on long term capital

3. Balance on private short-term non-liquid capital

4. Balance on short-term liquid capital

Questionid : 4232  Question Type : MCQ
GrelTersh! ST Yl WieATHIS T Hag oATeT 318 ?

Options :

1. A8 58 doied

2. ST gEhiaT soled

3. AT Tt AT VW YhaT seled

4. 3TeATa e AW Yol Gaell soleg

Question id : 4233  Question Type : MCQ

Which of the following is a correct statement of Marshall- Lerner condition?

Options :

1. The sum of'the elasticities of exports and imports with respect to the exchange rate is 1

2. The income elasticity of imports is greater than 1

3. The income elasticity of imports is less than the income elasticity of exports

4. The elasticity of imports with respect to the exchange rate is greater than the elasticity of exports with respect
to the exchange rate

Question id : 4233  Question Type : MCQ

AT o] [Eufa deeh @relierdeh! 1y ey 3mg?

Options :



1. [ aTe Sraeiaar St Tehor e 0T foiaTd Aol Tend FehR Uehddesl &1 1 38

2. TATA AT | U&7 SI1Ed 3Tg

3. 3T AL 3T g T [HAITd 98T AT 3Te

4. AT NTHIAT TFE ool e3<T fg ey [FaTa aaiadT Teaeol e3<aT A€ del AT 3718
Question id : 4234 Question Type : MCQ

To maximise sales revenue a firm has to produce where

Options :

1. Marginal cost is equal to marginal revenue

2. Marginal cost is equal to zero

3. Margmnal revenue is equal to zero

4. Marginal revenue is maximised

Question id : 4234 Question Type : MCQ

fash e TSTEa ATCaUITATET Ueh BH AT TG HIId oIlEIel STegl

Options :

1. TSI @ TSR TSTET TRET 8ol

2. TR T Yo 3T

3. STehTT TTSTE Y 3T

4. TTSTehT TMSTET ShATeT 3T

Question id : 4235 Question Type : MCQ

To grow at the maximum rate without incurring a loss a firm should produce the highest output where

Options :

1. Margmal revenue is equal to marginal cost

2. Average revenue is equal to marginal cost

3. Marginal revenue is equal to average cost

4. Average revenue is equal to average cost

Question id : 4235 Question Type : MCQ

SHHTCT Aol ATGATST HHTET SJehHTe o hcll Teh hUHeT 1Y dTed el Tligoel SATel Hafod Scdiee

Aoser

Options :

1. TSI TSTET ¢ ISThIN I STeTd HRY 70T

2. ETEYY TSTE & TSTh T @l AR 31

3. TN TSTEd ETEY WATUadr 3mg

4. TRTERT ToTEd T @A ds 3

Questionid : 4236  Question Type : MCQ

In 2011-12 which of the following sectors showed the highest rate of growth in India?



Options :

1. Construction

2. Trade, hotels & restaurants, transport and communication

3. Manufacturing

4. Finance, msurance, real estate & business services

Question id : 4236 Question Type : MCQ

¥ 2011-12 FEY GreflerdhT HIVTT 8131 FaTd aRTIT GATT a1 HRATT SrEdar?

Options :

1. fasToT

2. SIGUN, gicd 30T I¥eee, IRags 30T "arg

3. fafasATor

4. facd, TaaT, RIo s€ce 30T earaari¥yis dal

Question id : 4237 Question Type : MCQ

At present in India gross domestic saving as a percentage of GDP at current prices is roughly

Options :

1. 23 per cent

2. 32 per cent

3. 41 per cent

4. 48 per cent

Question id : 4237 Question Type : MCQ

TEGT HRCATcATel THUT TUTfAh S, Fed GDP febcll o 318

Options :

1.23%

2.32%

3.41%

4. 48%

Question id : 4238  Question Type : MCQ

Expenditure on health in India as a percentage of GDP is roughly

Options :

1. 2.1 per cent
2. 3.4 per cent
3. 4.1 per cent
4. 9.2 per cent
Question id : 4238  Question Type : MCQ
HRAR 3RS @ GDP fohell T 318



Options :

1.2.1%

2.3.4%

3.4.1%

4.9.2%

Question id : 4239  Question Type : MCQ

Which one of the following is true in the case of Indian public finance

Options :

1. Fiscal deficits mmus interest payments equal primary deficits

2. Revenue deficit minus capital expenditure equals effective revenue deficit
3. Total expenditure mnus revenue receipts equals fiscal deficits

4. Capttal receipts minus plan expenditure equals capital deficit.

Question id : 4239  Question Type : MCQ

IR 31T faca et @relierd<hT &1 sRIeT 378

Options :

1. TTSTehRISIY EITET JoiT STt $13TcITeT SIS YT deh el
2. TSTET TET Gl YofT @ S JHTET TSTEd °rer

3. THUT G goll JMeTEd TTed SIS JSTohIN T ’TeT

4. YT I FIT e IR it Ere

Question id : 4240 Question Type : MCQ

Which of the following is an injection into the economy?

Options :

1. Investment

2. Saving

3. Taxation

4. Spending on mmports.

Question id : 4240 Question Type : MCQ
GrolTeldehT 1T AT ATTTAATE Sootareled FHTUT 31TE?

Options :

1. faer

2. ddd

3. HIRGOT

4. 3TATAAST ©

Question id : 4241 Question Type : MCQ

A significant increase in budget deficit of the government is likely to




Options :

1. Lower national income

2. Boost aggregate demand

3. Raise unemployment

4. Lower mflation

Question id : 4241 Question Type : MCQ

THRT T CHEY Hgca Ul AT ST TROUTH AaIdl glciiel

Options :

1. HHT IS AHTTH

2. GHI ARTUN réel

3. SR areel

4. FIGTIS AT GUTR

Question id : 4242  Question Type : MCQ

Intertemporal optimisation 1s NOT a feature of which of the following models:

Options :

1. Harrod-Domar growth model

2. Ramsey growth model

3. Cass-Koopmans growth model

4. Real Business Cycle model

Question id : 4242  Question Type : MCQ

Sl CFIRS THRIcHD T Bk Teh AfASETT AR 318 SIH T Wrelel AlSed Tag 3ed:

Options :

1. g8 SR 99Ti Alsel

2. T getfa AlSe

3. HIH-HIAH FaTfcl AST

4. AT ST Tsh AlSel

Question id : 4243  Question Type : MCQ

The expenditure function denotes expenditure as a function of

Options :

1. Prices only

2. Income and prices

3. Utility and a given level of income

4. Prices and a given level of utility

Question id : 4243  Question Type : MCQ
g Fatt s ATl Teh & ATl



Options :

1. eFd fopaclT T

2. 37Tk 30T fohard

3. 3UTNNET 0T feerem maeha TR

4. TorAd 3ToT fEerear 3uAN AT T

Question id : 4244 Question Type : MCQ

The product exhaustion theorem is an application of which mathematical principle:

Options :

1. Euler’s theorem

2. Young’s theorem

3. Minkowsk1’s theorem

4. Kakutani fixed-point theorem

Question id : 4244  Question Type : MCQ

3cUTe AT HaEl G347 Ueh o1 31T i1 Wlelleldehl sh10TedT ITuT fAgranft faerfsd 3me:

Options :

1. eI g8y

2. JTH THY

3. fAfApIeEhar 997

4. FTHTAT TR foeg g4

Question id : 4245 Question Type : MCQ

In a non-cooperative game, a strategy for player that is a best response to any strategy profile of the other
players is called

Options :

1. Shapley Value

2. Nash equilibrium

3. Dominant strategy

4. Nucleolus

Question id : 4245 Question Type : MCQ

wr@m, WeATg TS WIS qHAT YBIZTAT WBUATcl el THRTATS! Sedd FfadTe ugfad s

Options :

1. ATl dog

2. o121 sfeFaferfsas

3. 3TfHIeC TECoiT

4. 7gfFTH

Question id : 4246 Question Type : MCQ



A moral hazard problem is a
Options :

1. Hidden-type problem

2. Hidden-action problem

3. Hidden payoft problem

4. Hidden outcome problem

Question id : 4246  Question Type : MCQ
Afds @A FET THR FHAEAT 3R

Options :

1. 9T JhRl GAE]

2. Tqerell fohar aHET

3. 9erell U 31T GHEAT

4. TTeTelT TROTTH HHEAT

Question id : 4247 Question Type : MCQ

Ifthe first derivative of a function is positive and the second derivative is negative, which of the following is true?

Options :

1. It is a downward sloping concave function

2. It is a downward sloping convex function

3. It is an upward sloping concave function

4. It is a upward sloping convex function

Question id : 4247 Question Type : MCQ

%WQWWWWWWWW, X el 3T & 1T I
9

Options :

1. §T WY SATOTRT 3cd ol YehR 37Tg

2. §T @TelT SATUTRT 37ddol IRUMH 318

3. §T aX STUTRT @alTel 3cd ol b 3Tg

4. T aX STUTRT Wellel 3Tadel IRUTH 318

Question id : 4248 Question Type : MCQ

Ifthe value of the marginal propensity to consume is 0.2, the value of the multiplier is

Options :

N
D B~ o0



Questionid : 4248 Question Type : MCQ . .
SR AT e Hed SUHRIHETS! 0.2 378, gl 0T 3HTg

Options :

1.1

2.0.8

3.04

4.1.25

Question id : 4249 Question Type : MCQ

Any demand function of the form pq = k (where p is price of the good, x is quantity demanded and k is a
constant) has an elasticity equal to

Options :

Question id : 4249  Question Type : MCQ ‘
pq = k TSI SIOTGT ARTUN Heell h1a (SiegT p TEAN T, x AT AT 30T k [ETeh 31de)
T HLAT ST ATAIAT 31T

Options :

1.0.5
2.1

3.p/q
4.p/2q
Questionid : 4250 Question Type : MCQ

If average cost function is given as AC = 2q? + 4q +3, the marginal cost is equal to

Options :

.37 +4q>+9

2. (23) +4q+3

3. 3q2 +4q

4. 4¢3 +2q +3

Question id : 4250 Question Type : MCQ

SR AT TR &1 f&orer 318 AC = 2q2 + 4q +3, TIegT ATfoleld T 378

Options :



1.3 +4¢%+9

2.(23)q* +4q+3

3.3q% +4q

4. 4¢3 +2q +3

Question id : 4251 Question Type : MCQ

For the function :.‘r3 +x” + x + 1 the inflexional point occurs at
=)

Options :

1.X=0

2.X=1

3. X=-1

4.X=1/3

Question id : 4251 Question Type : MCQ

1 .
arérg‘x3+x‘+x+1w'£r SEFAIE [deg HS IEUIN

Options :

1.X=0

2.X=1

3.X=-1

4.X=1/3

Questionid : 4252  Question Type : MCQ

The study of economic processes over a period of time is called

Options :

1. Stock analysis

2. Comparative statics

3. Static analysis

4. Dynamic analysis

Question id : 4252  Question Type : MCQ

T [V Fremafaarsr 3nfie gihaar 3reagetre Fgordrd

Options :

1. T&Ih 3Tehold

2. JoldATcHS eI
3. BT o

4. I Tehelod




Question id : 4253  Question Type : MCQ
The condition that the principal leading minors of the Leontief matrix be positive is called

Options :

1. Hawkins-Simon condition

2. Perron-Frobenious theorem

3. Stolper-Samuelson theorem

4. Arrow conditions

Question id : 4253  Question Type : MCQ

T T Sregt =1 Teh R Fagid &l farasifed AT HehRIcAS 3l aX a1 Furdrd

Options :

1. gifere — AT Feafa

2. QI — BITATH 97T

3. TN — AFG Ul THT

4. W f&fa

Question id : 4254 Question Type : MCQ

In the case of constrained optimisation, the result that the partial derivatives of the value function with respect to
the parameters equals the partial derivative of the Lagrangean of the original problem with respect to the
parameters is called

Options :

1. Kuhn-Tucker condition

2. Hamiltonian

3. Envelope theorem

4. Total differential

Question id : 4254 Question Type : MCQ

foeg HhRTcHAT 31T [T, TRATH 31freh 31TER 3raaTd 3701 1 He 31T
aﬁmﬁa%m TR ToT0T SR feers el arafas Taear e aRTATT 3dearar ™

Options :

1. ShgeT-Th T8I

2. g

3. TAdeT THT

4. TRUT TR aRITel

Question id : 4255 Question Type : MCQ
Quasi-rent equals

Options :



1. Net profits minus total variable costs

2. Net profits minus total fixed costs

3. Net profits minus total costs

4. Net profits plus average costs

Question id : 4255 Question Type : MCQ
FATHY YoT SIS 3T

Options :

1. FYOT HTIET FolT TehvT TR T

2. Hcrﬂ‘rwch ol kd’»UI 1??4?@?.?

3. W‘hqul duil kGhUI {EI'CJ

4. mﬁmmm@ﬁ

Questlon id: 4256  Question Type : MCQ

Which of the following situations is closest to the set-up of the Sraffa system:

Options :

1. Constant returns to scale

2. Increasing returns to scale

3. Deceasing returns to scale

4. Increasing returns to a factor

Questionid : 4256  Question Type : MCQ

AThT FIECH HaHl ¥e 379 A18T Wreltel Jehr ot aRTEUfT FaTd STaesdr 31me:

Options :

1. TR Thel T

2. gTedT Thel Read

3. ST GIVTRT Tohel et

4. qTedT Real Teh SR IRl

Question id : 4257 Question Type : MCQ
A fall in the external value of the currency

Options :

1. May cause an outward shift the demand for the currency

2. May cause an inward shift in the supply of the currency

3. May lead to a movement along the demand curve for the currency
4. May be due to an increase in the demand for the country’s exports
Question id : 4257 Question Type : MCQ

=T S1Ed fhAdTd AT oy

Options :



1. AT FEH HRTUN T ST bl

2. Wmmﬁuw Scoldrel

3. ﬂa—mmwﬁwm—m%anaﬁq-&aw

4. S31reT e ey are 3-|Hc*¢lld-|ob AU qTGelr 31el
Questionid : 4258 Question Type : MCQ

A fall in the value of the rupee is likely to decrease spending on imports if:

Options :

1. The price elasticity of demand for imports is price elastic

2. The price elasticity of demand for imports is price inelastic

3. The price elasticity of demand for imports has a unit price elasticity

4. The price elasticity for demand for exports is price elastic

Question id : 4258 Question Type : MCQ

TUATAT FRAT T 3THUT 37T HATTIR @ HHT HI0T 3¢ ST

Options :

1. 3T FEET AT AT Hed A= 3Tg

2. mwﬁwmﬂwwmﬂwaﬁm
3. mwﬁmﬁ@ﬁwéﬂémmm
4. T Faeh ARTON AraHadr He3 et 3
Questionid : 4259 Question Type MCQ

Which of the following is NOT an argument for protectionism?

Options :

1. To improve the balance of payments

2. To let the mfant industries grow

3. To insulate strategic industries from external competition
4. To increase imports

Question id : 4259 Question Type : MCQ

GRET T HH WTolTeT VT HUT cTeh S ATG!?

Options :

1. 3'|<’|C|I°'| HHdI(ﬂ CIIGCIUI

2. OlSIO'i 5C\¢IIJII0'II CIICo é\'UT

3. dcaI AT ITEY FIEITST oy SaoT
4. AT dTGIOr

Questionid : 4260 Question Type : MCQ
Free trade is based on the principle of

Options :



1. Comparative statics

2. Comparative advantage

3. Economies of scope

4. Judicious mix of tariffs and quotas
Questionid : 4260 Question Type : MCQ
HFd IR HI0TT FAgTATaR delga 3778

Options :

1. T9¢feh T

2. d(‘{O'II(‘J-Iq') thidal

3. ARy srefamen

4. SR 30T shieT Haeh denfaren fasmor
Question id : 4261 Question Type : MCQ
In a floating exchange-rate system

Options :

1. Balance of'trade is always in surplus

2. Balance of payments is necessarily proportional to government deficits

3. The exchange rate is determmed by demand and supply of the currency

4. The exchange rate is determined by the government accumulating or running down gold reserves
Questionid: 4261 Question Type : MCQ

Tl T dool Y€ Tgdld

Options :

1. ol 3T ¢8 AgHT S AR

2. soled HTh THee TRT S fAcTar SRS 3R

3. mﬁ—craﬂa—mmwﬁmaﬂﬂﬁwﬁ’rm

4. TFH ool &Y GIhR &3 AT %WWW&TWW
Questionid : 4262 Question Type : MCQ

Rational expectations suggests that

Options :

1. People have perfect foresight
2. People continue to hold on to past expectations and extrapolate that to the future

3. People observe the difference between their expectation in the previous period and the value that the variable

actually took and in the current period adjust their expectations accordingly

4. The subjective expectations of the people equal the objective statistical conditional expectations suggested by

theory
Question id : 4262  Question Type : MCQ
AT I 38T Hooll &ad [



Options :

1. STeTcTehs 3ccH gIe o 38

2. SToTAT AT 3TTETT ST JMTOT aTaT 3R HTTSIATAR 31cr

3, mmmmwmmmmmasﬁmwmm TciTel Hieh JTTOT
W%’raﬂ T §1FY d8d

4. STATTIAT AIATS 3TUETT 3701 qIEITdeh AITEThT 3TT&TT IT ATEATT feeledT 3Ted

Questionid : 4263 Question Type : MCQ

To prevent the external value of its currency from declining, a government may choose from which of the
options?

Options :

1. Reduce mterest rates

2. Sellits own currency

3. Increase its spending

4. Buy its own currency with foreign reserves

Question id : 4263 Question Type : MCQ

HTIeAT HowdT STEd Aol Well STUATIST ArITUATHTS!, HIHR Shgel Wlellel Uehl 10Tl
Ryered fasar 1 aTfor

Options :

1. TSl &X AT 0T

2. 3T7elT e fasmor

3. 3TYell {Q'CI gregul

4. 3TelY Fer faeel Rerd #eET @er aor

Questionid : 4264 Question Type : MCQ

In the short run unemployment can fall below the natural rate of unemployment if

Options :

1. Inflation is higher than rate of growth of nominal wages

2. Nominal wages have grown faster than inflation

3. Nominal wages are equal to expected wages

4. Nominal wages have grown faster than unemployment

Question id : 4264 Question Type : MCQ

ANEFT ITNT 37Telel TR ST TTHT JhRITAT SITIETT AT gIOT AT 3Tg 5K

Options :

1. gTAT a—loﬂluu GIAER aTrer?ﬂTWTléﬁw%”
2. HIHA A aTWTléeraﬂwad gredel 3drd
3. AT LY SR HEream sa 378

4. HTATY AL ShRIYETT SITEd dléell 3T




Question id : 4265 Question Type : MCQ
Demand-pull inflation may be caused by

Options :

1. A fall n mterest rates

2. A rise in costs

3. A fall in government spending

4. An outward shift n aggregate supply
Question id : 4265 Question Type : MCQ
AN Wofy AGTES hIUT 31 Aol

Options :

1. TTST Tl HAT

2. G a1

3. TR @A AT

4. THOT MY 42T STS[eT STToT
Questionid : 4266 Question Type : MCQ
The precautionary demand for money

Options :

1. Is an active balance

2. Is an idle balance

3. Is inversely related to income

4. Is directly related to interest rates
Questionid : 4266 Question Type : MCQ
T el FRI&TTAT ATeTof 318

Options :

1. U Gishd AT

2. Teh 3T FHA

3. ATAR® T 3Tdeh Aldd TG

4. <TTST &Y W d Y 31T elell

Question id : 4267 Question Type : MCQ

Ceteris Paribus, an outward shift in the demand for money leads to

Options :

1. A rise in the interest rates but same quantity of money
2. A rise in the quantity of money but same interest rates

3. A rise in the interest rates as well as quantity of money
4. A fall in the mterest rates and a higher quantity of money



Question id : 4267 Question Type : MCQ
Tfae IRe4, S1Eg AT A TEvdH A 38

Options :

. SATSTEIT aTe I AT AT GeATed F&l

2. 4T AT a1 W AT AT SAToleTd &l
3. SYTSTeTd a6 ﬁﬂ?rﬂ'@)?—rga

4. STTSTEITd ST HTOT 3T Ul G&AT
Question id : 4268 Question Type : MCQ

A reduction in money supply is likely to lead to

Options :

1. Higher inflation

2. Lower deflation

3. Lower mterest rates

4. Higher interest rates

Questionid : 4268 Question Type : MCQ
e 3MYfe] HEY AT ITHATHS AFT 38

Options :

1. STTEd AGITS

2. 3TTEHIAT HAT groT

3. AT T e

4. 3T Tl ¥

Question id : 4269 Question Type : MCQ

If unemployment takes place due to a fall n aggregate demand, this type of unemployment is called

Options :

1. Disguised unemployment

2. Frictional Unemployment

3. Cyclical unemployment

4. Structural Unemployment

Question id : 4269 Question Type : MCQ

THUT ARTON FHHT FTeATHS S ShRT aTerell 38 e, T AT THRTAT FOTATd

Options :

1. UBeoT ShIT
2. gYuilT ShIRY
3. ThIT JHhRT
4. GIIATCHS JhRT



Questionid : 4270 Question Type : MCQ
Supply-side policies are useful in curing

Options :

1. Voluntary unemployment

2. Cyclical Unemployment

3. Disguised unemployment

4. A fall in aggregate demand

Questionid : 4270 Question Type : MCQ

3MYfct STof=ar A AT ThRAT UG [T HIST 3TN 3T

Options :

1. BfTo® dhrT

2. T SHRY

3. USeod SRR

4. THUT AN HAIAT

Questionid: 4271 Question Type : MCQ

To lower cyclical unemployment the government might

Options :

1. Lower the budget deficit

2. Increase deficit

3. Lower the balance-of-payment deficit

4. Raise taxes

Question id : 4271 Question Type : MCQ

TSI SRR HHAT HIUITATS TR hgel ahel ael TTfgol

Options :

1. So7¢ SThIAT FHAT Fhel Tifgar

2. 3Thfae areaor

3. Soled AATh YHwc sfthffe HaAT HIor

4. T dreqor

Questionid : 4272 Question Type : MCQ

Suppose there is no tax up to an income of Rs. 10,000. After that there is a tax rate of 50%. What is the
average rate of tax on an income of 20, 000?

Options :

1. Rs 10,000
2.30%
3.25%



4. Rs 5000

Questionid : 4272 Question Type : MCQ

HATeTol foh T 10,000 TI=d<AT 31Tdeh I T ATRT. AT AT FIA & 3Ted 50%. 3Tde T 20000
AT AR hITN & 1T 378l ?

Options :

1.% 10,000

2.30%

3.25%

4.3 5000

Questionid : 4273  Question Type : MCQ

If an economy grows, the government budget position should automatically

Options :

1. Worsen

2. Improve

3. Stay the same

4. Improve with inflation

Question id : 4273  Question Type : MCQ

S HYTTEAT YA X, A TLhRAT Soredr Fedfd 3rarsmg

Options :

1. &< gl

2. GURd

3, 9 3

4. AGIMS TS d dled

Question id : 4274 Question Type : MCQ
A government deficit is likely to

Options :

1. Increase aggregate demand

2. Lower mflation

3. Increase unemployment

4. Lower spending on imports

Question id : 4274 Question Type : MCQ
AR SThAe Fas A 38

Options :

1. TehUT HTIT0fT greor
2. HEIATS AT gIor



3. SRR aTEoT

4. 3T G @ hAT IO

Questionid : 4275 Question Type : MCQ

An outward shift of the margmnal efficiency of capital will

Options :

1. Slow down economic growth

2. Increase aggregate demand

3. Lower aggregate supply

4. Reduce consumption

Questionid : 4275 Question Type : MCQ

ST &TAAT S Yaiid 31&el 30T oY aX=aT STsfelT el 3ol

Options :

Questionid : 4276 Question Type : MCQ
An increase in interest rates is likely to

Options :

1. Reduce savings

2. Reduce the external value of the currency

3. Lead to a movement along the MEC schedule
4. Lead to a shift of the MEC schedule
Questionid : 4276 Question Type : MCQ
TSl &Y dTeedT Hd 1 AT 318

Options :

|. SIT HATGIOT

2. HoT Tl STE T fhAd HHT g1

3. MEC YehRT Gl d fohaT ared

4. MEC 9ehRT HIdd dcel gsdl

Questionid : 4277 Question Type : MCQ
The accelerator theory assumes

Options :

1. The multiplier is constant
2. The marginal propensity to consume is constant



3. There is a constant relation between net mvestment and rate of change of output
4. There is full employment in the economy

Question id : 4277 Question Type : MCQ

TFHIeR e LA AT 378

Options :

1. F[OTIeh TR 3718

2. TSI 3TeNaT U e 8RR 3 8d

3. fAder 3nfor aRumH ALl B Ieard U Fa8 0T
4. HITTEIT HYUT VST 3778

Questionid : 4278 Question Type : MCQ

In a recession, GDP

Options :

1. Grows slowly

2. Grows negatively

3. Grows by 0%

4. Grows rapidly

Questionid : 4278 Question Type : MCQ
Hecl ALY ST

Options :

1. gog aed

2. ABRIcHS dT6 gad

3. 0% dTed

4. 9Tehel dTed

Questionid : 4279 Question Type : MCQ

In a perfectly competitive labour market, firms are price takers and the marginal cost of labour equals the

Options :

1. Marginal product of labour

2. Marginal revenue

3. Average cost of labour

4. Total cost of labour

Questionid : 4279  Question Type : MCQ

Options :

1. TSI AT 391G



2. TSI TTES

3. FET AT IehR

4. AT mv‘r g

Questlon id: 4280 Question Type : MCQ

The capability approach is most closely associated with which of the following economists:

Options :

1. Jagdish Bhagwati

2. TN Srmnivasan

3. Amartya Sen

4. VK RV Rao

Questionid : 4280 Question Type : MCQ

GrelToTdhT ShIoTeT ITARATENAT fATRIAT 87HdT YR STaaddT 37T]:

Options :

1. STITETT 1T

2. &1 o AiAara

3. 37ACT Al

4. T kh AR AT TG

Question id : 4281 Question Type : MCQ

The first fundamental theorem of welfare economics states that

Options :

1. Under suitable conditions the competitive equilibrium is Pareto-optimal

2. Under suitable conditions externalities can be solved without government intervention

3. Ifthe gainers from a change can compensate the losers and can still be better off it is a welfare improving
change

4. Social cost is greater than private cost

Questionid : 4281 Question Type : MCQ

FoAT0T 37 ATET Haell Tl el TR 93T Gt o

Options :

1. 3cad FEUda Taet A el ThRIcHS 37Tdr
2. mﬁaﬁamﬁﬂﬁmﬁwﬁmamaﬁm

3. S SGeT AYST UTCclehc! of [ABUIRAT Hed el M0 AT SccH 3 & HedIUThRT Seof il
4. AT @ AT @eaT S 31

Question id : 4282 Question Type : MCQ

Which of the following is an example of an endogenous growth model?

Options :



1. Feldman model

2. Kaldor model

3. Romer model

4. Pasinetti model

Question id : 4282  Question Type : MCQ

GreiTel YhT HIUTAT ATSS Tes o I AT Ao 3?2

Options :

1. hesHe AlSd

2. FHeeR Algd

3. QAT Alge

4. gT8TE AlS el

Question id : 4283 Question Type : MCQ

When a firm charges each consumer the maximum that he/she is willing to pay, the firm engages in

Options :

1. Bundling

2. Tying

3. First-degree price discrimmation

4. Second-degree price discrimination

Questionid : 4283  Question Type : MCQ
ggmmwmmmmmwmamm, SESRT R

Options :

1. Sesfeldr

2. riaT

3. 9UH YHR fohAd HAT HIoT

4. gfada 9 fohAd et X0l

Question id : 4284 Question Type : MCQ

Which of the following is NOT a condition for third-degree price discrimination?

Options :

1. Separate markets

2. Economies of scale

3. Monopoly power

4. Different own-price elasticities of demand

Question id : 4284 Question Type : MCQ

FrelTer Yhr h1oTcl Reafa faaat yer fhaAa et soarer feufa 3me?

Options :



1. 99Tes TSR

2. Thel 7RIS

3. UehlTOehY 2Mfehd

4. Tafaer AR 31cA e ara=iraT ATeTol

Question id : 4285 Question Type : MCQ

In the market for real output, the mitial effect of an increase in money supply is to

Options :

1. Shift the aggregate supply curve to the right
2. Shift the aggregate supply curve to the left
3. Shift the aggregate demand curve to the right
4. Shift the aggregate demand curve to the left
Question id : 4285 Question Type : MCQ
arediaes aRuTA St SToTRTd, IRIAE TG S 318dT stegh U+ 3qfd ared 3rad

Options :

1. TH0T 3MYf &hd 3oTdlehs STdl

a

2. quﬁa%‘rgra’lﬁaﬁﬁ
[N
3. WUTZHWU‘ITM 3S7dTehe STl
4. meﬁav—o‘rglaﬁao—%ma’r
Question id : 4286 Question Type : MCQ

The slope of the IS curve depends on

2

Options :

1. The Slope of the expenditure function

2. The marginal propensity to save

3. Proportionate change in autonomous spending

4. How responsive are consumption and investment to the mterest rate
Question id : 4286 Question Type : MCQ

IS a1 3aR fAei 3mg

Options :

1. TATIT HTAT o 3aRET

2. TSI FHfE o Tl

3. W@ﬂ%ﬁ%ﬁsﬂmﬁmm

4. 3UHET 37TTOT TSt axT el Ter el gfarare adra
Question id : 4287 Question Type : MCQ

Capital flight

Options :



1. Decreases a country’s net exports and increases its long-run growth
2. Decreases a country’s net exports and decreases its long-run growth
3. Increases a country’s net exports and increases its long-run growth
4. Increases a country’s net exports and decreases its long-run growth
Question id : 4287 Question Type : MCQ

gl FeTsT
Options :

1. SR HYOT ATt et el 30T geef Jorfey et arealy

2. aawmmammmwﬁmmm

3. IR THoT T aTaaa 3T e Rl Ty areaat

4. T THUT AT aTeaa 3O gy yaTfay shaft et

Question id : 4288 Question Type : MCQ

Taking advantage of a difference in the price of the same good by buying it cheap and selling it where it is
expensive, i1s known as

Options :

1. Seignorage

2. Arbitrage

3. Price discrimination

4. Tying

Question id : 4288 Question Type : MCQ

Tehdl TEeIT AT [ AT Taehc HoT 30T HETT ST TdehoT, AT JehReT 3T BIIel HoT,
qTH FUTdld

Options :

1. FATTAST(Seignorage)

2. ARIIETST(Arbitrage)

3. fohard S HT FION(Price discrimination)

4. TR (Tying)

Question id : 4289 Question Type : MCQ

If the nominal rate of interest is 6 per cent and the rate of inflation is 3 per cent, the real rate of interest is

Options :

1. 2 per cent

2. 3 per cent

3. 9 per cent

4. 18 per cent

Question id : 4289 Question Type : MCQ

S HTHTT SATST &X 6 ToFeh 31T 37TT0T AGRMS AT & 3 TaFah ¥ T d AT ¥ 1 1o




Options :

1.2 TFh

2.3cah

3.9 T

4. 18 ToFeh

Questionid : 4290 Question Type : MCQ

Ifthe real rate of mterest is 4 per cent, the inflation rate is 6 per cent and the tax rate is 20 per cent, the after-tax
real interest rate is

Options :

1. 1 per cent

2. 2 per cent

3. 3 per cent

4. 4 per cent

Question id : 4290 Question Type : MCQ

SR aIEATdeh ST & 4 TFah 313 e, JTT0T AGRNSTT &X 6 TFeh 3T AT SIa &Y &X 20 TFh
3ol A T A TS & 318l

Options :

1. 1 TFh

2.2CFh

3.3 CFh

4.4 TFh

Question id : 4291 Question Type : MCQ
A reservation wage is

Options :

1. Competitive equilibrium

2. Perquisites above the basic wage

3. Maximum wage that the firm is willing to offer

4. Minimum wage that the worker is willing to accept
Question id : 4291 Question Type : MCQ
3RETOT ALY 318

Options :

1. TqcHS AT

2. YR AL=AT &R

3. wmémma—wm

4. frAT J-Ioj\{lGﬁ'J-loj\{ PRI dIR 39




Question id : 4292  Question Type : MCQ
Which of the following types of unemployment will exist even at a competitive equilibrium

Options :

1. Structural unemployment

2. Frictional unemployment

3. Cyclical unemployment

4. Staggered unemployment

Question id : 4292  Question Type : MCQ

WrelTel UehT hIUTAT Teh R TehRT FTETcHS HHAAIT F&T 3778

Options :

1. XA JThRT

2. ATEYOT JhRT

3. T SRR

4. TEIE THRT

Questionid : 4293  Question Type : MCQ
Which of the following is an example of equity finance?

Options :

1. Government Bond

2. Corpotate bond

3. Company shares

4. Food vouchers for the poor

Question id : 4293  Question Type : MCQ
STFACT BRI EH 3GI8IUT WTeileTeh! ShIUTcT 3Te?

Options :

1. SR dles

2. HIARC dles

3. ST ATY

4. INGTATE {3 aE3TE

Question id : 4294 Question Type : MCQ
An increase in the budget deficit is

Options :

1. An increase in government saving
2. An increase in private spending
3. A decrease in government saving
4. A decrease in private saving



Questionid : 4294 Question Type : MCQ
goic il areaur 3rdTa

Options :

1. TR TITHEY a1

2. STFAIT GdId a6

3. GIHRY TATHEY FAT

4. STFAIT T ALY FHAT

Question id : 4295 Question Type : MCQ
An increase in the budget surplus

Options :

1. Reduces supply of loanable funds and raises the real interest rate

2. Increases the supply of loanable funds and reduces the real interest rate
3. Increases demand for loanable funds and raises the real mterest rate

4. Reduces demand for loanable funds and reduces the real interest rate
Questionid : 4295 Question Type : MCQ
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Questionid : 4296 Question Type : MCQ
An example of transfer payment is

Options :

1. Rent

2. Profit

3. Unemployment benefits

4. Government purchases

Questlon id: 4296 Question Type : MCQ
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Question id : 4297 Question Type : MCQ
A is preferred to B, and B is preferred to C. Hence A is preferred to C. This is the property of

Options :

1. Unanimity
2. Assymetry
3. Reflexivity
4. Transitivity
Question id : 4297 Question Type : MCQ
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Question id : 4298 Question Type : MCQ
Ifleisure is a normal good, an increase in wages will

Options :

1. Always increase the labour supplied

2. Increase the supply of labour if the substitution effect outweighs the income effect
3. Increase the supply the labour if the income effect outweighs the substitution effect
4. Always reduce the labour supplied

Question id : 4298 Question Type : MCQ
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Questionid : 4299 Question Type : MCQ

One of'the following is NOT true of the outcome resulting from a consumer’s optimisation process

Options :

1. Marginal utility per Rupee is the same for all goods
2. Margmal rate of substitution between goods is equal to the price ratios of goods
3. The consumer is indifferent between any two points on her budget constramnt



4. The consumer has reached her highest ndifference curve subject to her budget constraint
Question id : 4299 Question Type : MCQ
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Question id : 4300 Question Type : MCQ

The maximin criterion suggested by John Rawls’s theory of justice implies that governments should aim to

Options :

1. Maximise the total utility of society

2. Maximise the utility of the worst-off member of society

3. Minimise the difference between the rich and the poor

4. Minimise the utility of the best-off person in society

Question id : 4300 Question Type : MCQ
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Question id : 4301 Question Type : MCQ

A progressive tax system is one in which

Options :

1. Average tax rates are high

2. Marginal tax rates are high

3. Higher- income tax-payers pay a higher amount of tax than lower-income tax payers

4. Higher- income tax-payers pay a larger proportion of their income as taxes than lower-income tax-payers
Questionid : 4301 Question Type : MCQ
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Question id : 4302 Question Type : MCQ

A public good is

Options :

1. Neither rival nor excludable
2. Both rival and excludable
3. Rival but not excludable

4. Excludable but not rival

Questionid: 4302 Question Type : MCQ
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